

Town of Rimbey Mayor Fees and Expenses

Date	Particulars	Hours	Amount	Kilometers
MAY22/15	Wela Mt	3.5	111.75	196
27/15	Central Ab Mayor Mtg.	4	127. 72	144.
JUNE 4-8/15	Central Ab Mayor Mtg. F.C.M.	42	1,341.06	1/10
	s (attach receipts):	tal Honorarium:		Total
Mileage:				
Expense Mileage: Meals: Hotels: Other:	s (attach receipts):			Total
Mileage: Meals: Hotels:	s (attach receipts):			Total 352.00
Mileage: Meals: Hotels:	s (attach receipts):	D \$0.55 Total Expense		Total
Mileage: Meals: Hotels:	s (attach receipts): 640 Kilometers (D \$0.55 Total Expense		Total 352.00



Name: _	Brian	God	ontor	Month	Ending: _	June	15/15
Meeting F	lonorariun	ns:					
Date	Particula	ırs			Hours	Amount	Kilometers
May 22/	KINC	I A			3/2	111.75	
	FCM				42	1,341.06	
	1						
						1,452.8	
Expense Mileage: Meals:	es (attach rec	eipts):	Kilomet	ers @ \$0).55		Total
Hotels:							
				Tota	ıl Expense	es:	
		Tot	tal Hono	rarium &	Expense	s: <u>*</u> /,	452.81
	Sigr	nature:	1				



Date	Particulars	Hours	Amount,	Kilometers
June 8	FCM - 3 days	36	54-7	
	Total	 I Honorarium:	1 149	48
	IUIAI		1. (7. /.	
	Total	i rionoranum.	_ 1, 1 T 1.	
Expense	es (attach receipts):	rionoranum.	<u> </u>	Total
Mileage:	es (attach receipts):	\$0.55		
	es (attach receipts):			
Mileage:	es (attach receipts):			
Mileage:	es (attach receipts):			
Mileage: Meals:	es (attach receipts):			
Mileage: Meals: Hotels:	es (attach receipts):			
Mileage:	es (attach receipts):			
Mileage: Meals: Hotels:	(attach receipts): Kilometers @			
Mileage: Meals: Hotels:	es (attach receipts): Kilometers @	\$0.55	5:	Total
Mileage: Meals: Hotels:	(attach receipts): Kilometers @ Total Honorarium	\$0.55	5:	
Mileage: Meals: Hotels:	es (attach receipts): Kilometers @	\$0.55	5:	Total



	ticulars	Hours	Amount	Kilometers
June 4 F	(M	6	191.58	
lunes F	(M	10	319.30	
unly F		10	319.30	1
Julip 7 F		10	319.30	
		-		
		+		
		36	1,149.48	
<u>.</u>	Total II	onorarium:	1,11110	
	ch receipts): $\sqrt{g} F(M)$	NO EE		Total
ileage:	0.0	\$0.55		Total 166.10
fileage: fleals: lotels:	_	\$0.55		
Mileage: Meals: Hotels:	302 Kilometers @ S	tal Expense		166.10
Mileage: Meals: Hotels:	302 Kilometers @ S	tal Expense		166.10
	Total Honorarium 8	tal Expense		
Mileage: Meals: Hotels:	302 Kilometers @ S	tal Expense		166.10



Date	Particulars	Hours	Amount	Kilometers
Tune 5-	8 FCM	36 h	1,149.4	8
		〒 - 4 - 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1110 40	
		Total Honorarium:	1,149.40	
Evnoneo	C (attach receipts):	Total Honorarium:	1,149.40	Total
xpense	<u>s</u> (attach receipts): 3 o 2 km Kilome		1,149.40	Total
/lileage:	302 km Kilome	eters @ \$0.55		
/lileage:	302 Km Kilome	eters @ \$0.55		
/lileage:	302 km Kilome	eters @ \$0.55		
/lileage:	302 km Kilome	eters @ \$0.55		
∕lileage: ∕leals:	302 Km Kilome To Edmonton	eters @ \$0.55		
Mileage: Meals: Hotels:	302 Km Kilome To Edmonton	eters @ \$0.55		
fileage: fleals:	302 Km Kilome To Edmonton	eters @ \$0.55		
fileage: fleals: flotels:	302 Km Kilome To Edmonton	eters @ \$0.55 **FCM**	166	.10 A
fileage: feals:	302 Km Kilome To Edmonton	eters @ \$0.55	166	.10 A
Expense Mileage: Meals: Hotels: Other:	302 Km Kilome To Edmonton	eters @ \$0.55 **FCM**	166	
Mileage: Meals: Hotels:	302 Km Kilome To Edmonton	eters @ \$0.55	166	.10